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AHAERT 101 122 123 245 IHTHN 11,829 11,751 13,038| 24,789\ —TH 156 147 133 280| F AHHMT 513 652 714| 1,366
ARYHT 227 212 224 436 FEIT=TH 124 121 119 240|  KEEHIX 3,038 3,968/ 4,093 8,061
JEBT 350 325 376 701 |5 EHT 231 265 278 543( TN T H 67 58 52 110
BT 532 558 578| 1, 136|fRiENT 3,429 3,871 3,909  7,780| AHFHHX 9,827 10,865 10,213| 21, 078|F/AHT 329 458 480 938
& ST 256 261 284 545 fa AT 194 224 239 463 A ET 190 300 310 610
FE M 279 261 275 5367 FHIT 512 542 554 1, 096 T 972 1,239 1, 296 2, 5355k ILIT— T H 674 862 973 1,835
)1 ET 116 127 133 260[TART 3,213 3,535 3,646 7, 1818 f H AT 356 439 475 9L4(HILIET =T H 228 277 303 580
KAGHT 670 653 646 1, 299| HRHAT 2,971 3,435| 3,577 7, 012(H Iy 1, 644 1,884 2,027 3, 91 1| AR/ =T 623 802 856 1,658
$RmT 18 14 22 36| T 563 643 662  1,305| H T 836| 1,055 1,065 2, 120| L4 mT 1,364 1,793| 1,922 3,715
FAHT 61 51 67 118| BgmT 1,244 1,510 1,535 3,045 #HremRHX 3,808/  4,617| 4,863 9,480 Fg/\iEHLX 3,408  4,492| 4,844 9,336
b= T 214 248 281 529| KARHT 159 172 185 357
Bl 70 60 68 128| A YRT 328 400 446 846| H-WEFHT 2,556 2,869 3,058 5, 927|4 EAET 454 519 569 1,088
JUREHT 125 112 137 249\ HERKT—T H 335 432 449 881| K J\AHT 1,023 1,239 1,162| 2, 401|ZEIGHT 263 366 362 728
HHET 145 114 97 21| AR T H 366 465 431 896| /1N J\AHT 1,165 1,462 1,434|  2,896|%H % MHET 740 858 891 1,749
TREHT 76 60 81 41| RERIT=TH 408 485 483 968| IE@L=FHT 391 491 533 1, 024 BLmT 179 235 238 473
FFIHET—T H 156 148 175 323| HUERETIU T B 267 373 387 760|[FEETE —T H 47 50 20 70| & ET 975 1,249 1,307 2,556
FRIHET T H 113 120 112 232 IFRMIX 14,220| 16,352 16,781| 33, 133|REMTE —TH 88 96 72 168 £ T 564 747 769 1,516
FFIHET =T H 133 141 148 289 fErT—TH 182 171 189 360| - EAHLX 3,175  3,974| 4,136 8,110
FRTHETY T H 145 183 185 368| 1 JFHT 3,514 4,183 4,306 8, 489|[=IT T H 38 38 43 81
A FalT 444 460 526 986y T — T H 259 298 319 617|MEAT=TH 15 14 19 33| AR IT 5,228/  6,370| 6,486 12,856
FISRET 20 16 23 39| FrIRT =T H 562 661 728 1, 389|HERATIUT H 109 118 111 229| = JFHT 158 204 246 450
FHT 163 158 183 341 TRl =T H 796 904 941 1, 845| &My 1,780 2,162 2,259| 4,421 AEEFHX 5,386  6,574| 6,732| 13,306
=R 47 33 49 82| 2 HT 1, 804 1,850] 2,033 3,883 HJIHX 7,394| 8,710/ 8,900 17,610
T 181 171 183 354 FEpfHAT 1, 404 1,600/ 1,639 3,239 RIRHT 389 499 556 1,055
RILHT 434 468 507 975| B HT 182 197 214 411 | AR 472 544 612| 1,156/ 5 HHET 473 546 602| 1,148
(=) 34 32 35 67|\ FRHI—TH 472 546 510 1, 056|gliFHT 2,120|  2,596| 2,526 5, 122|EEFHT 541 693 649 1,342
fEFHET 85 74 96 170[ )\ TRIET =T H 356 371 429 800( K 51T 210 284 320 60475 5 HT 131 170 148 318
HEAHT 44 40 49 I\ FHRET=TH 417 493 522 1, 015 &y 1,037 1,295 1,364 2, 659|FKEHT 495 719 723 1,442
FH T 181 164 184 348\ FARATIYU T H 368 445 496 941 ffIRET 458 586 598| 1, 184| 4 EHT 343 436 406 842
f=Lg 178 194 198 392 X 10,134| 11,548 12,137| 23, 685|HT AT 359 397 468 865|t 4 T 455 606 611 1,217
T bET 559 581 660 1,241 J\ T 1,955 2,519 2,585 5,104 s EX 2,827|  3,669| 3,695 7,364
R T 29 24 26 50| b Epmy 2,164 2,598 2,647 5, 245|F5 HET 112 160 170 330
ST 532 529 612| 1, 141[{=EpEENT 37 43 45 88| % HX 6,723|  8,381| 8,643 17,024| LjHT 231 338 315 653
FRHT 26 29 34 63| k- EmT 3,244  3,718| 3,625 7,343 TERETHT 128 195 194 389
LT 168 161 170 331| AL AT 349 409 473 882| |- fi] W] 1,150| 1,453 1,461 2, 914| F75 HHET 134 194 188 382
JEET 190 172 203 375 HT 609 619 625 1, 244| F & ET 1,807| 2,195 2,228 4, 423| FiEHT 345 480 454 934
AT 389 399 421 820( T HT 1,081 1,339 1,339 2,678 EpHHT 806 997| 1,021 2, 018|H EHT 270 425 409 834
R AT 40 36 43 79| 23T 1,217 1,603 1,606  3,200|dt/AfRET 423 511 560 1, 071| AR F0T 376 437 375 812
AT 1,587 1,693 1,835  3,528| FHEHT 899  1,139| 1,122| 2,261| EfAX 4,186  5,156| 5,270 10, 426|/\iE/FHT 288 418 447 865
fi FE T 216 215 248 463 1% PART 390 466 478 944 ) | 1 (X 1,772 2,487| 2,382 4,869
izt 119 124 152 276| FJEHT— T H 496 594 555 1, 149| 7T 460 591 579| 1,170
F T 171 150 164 34| HEET =T H 1, 395 1,591 1,822 3, 413| 45 T 406 544 519 1, 083| A HINT =/ £ 493 684 691 1,375
‘wr eHT 192 164 250 414 HERT =T H 589 692 754 1, 446| AL HT 152 218 209 427| B TAIRTHE 438 606 612| 1,218
Amy 198 169 212 381 HERTIUT H 581 712 707 1, 419|947 7107 127 179 190 369| B HET KA 171 254 263 517
JEAHERET 53 45 31 76| WAERT 847 989 1,000 1, 989|111 1,086 1, 439 1,530 2, 969 [ A HIHT K 116 173 175 348
A1) 328 343 422 765 Fi1FH £ Hr T 554 629 574| 1,203 Hri T 346 445 482 927| B HHIT) 7 358 466 490 956
)1y 232 191 278 469| fEEFHIX 14,452| 17,141 17,372| 34, 513|%RHT 4217 547 570 1,117 AKX 1,576| 2,183 2,231 4,414
L1 FE T 118 115 116 231 Fhldemy 220 305 316 621
S1) 90 87 99 186| L/ sy 760 906 946| 1,852 EHX 3,224  4,268] 4,395 8, 663|FEARHTPEH R 707 953 1,015 1,968
Pu > T 47 54 48 102| F/sgmy 441 576 640, 1,216 FERHT S BT 82 114 128 242
el 54 63 59 122 kAT 2,999 3,148| 2,758 5, 906| FRJEAT 1,072 1, 308 1,338 2, 646| FEHPHTHAZ IR 343 234 210 444
G mT 81 84 78 162[ T/ BHT 2, 147 2,383 2,206 4, 589|fE ALHMT 267 388 400 788 | EEABHT K S5 789 1, 141 1,163 2,304
JHIAERT 197 195 212 407| F/NEHT 1,494 1,633 1,556| 3, 189|4elfHT 592 828 828 1, 656 | FEARRT HH = 380 535 557 1,092
FEHAHT 444 369 456 825| HLHHHT 1,374 1,621 1,613 3, 234| FRIFHAT 390 535 550 1, 085| FARHT F2 1,101 1,451 1,563 3,014
i FH T 171 179 164 343 FkIT—TH 265 272 190 462| FFRSHET 204 257 263 520 FEAPHT T 671 937 972 1,909
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M [ 321 523 512 1, 035| & FHMT J7 1L 169 286 274 560
FEHRMT 196 298 312 610] 5 HMTAYD 440 628 604 1,232
FEPRETFT A (L 136 195 209 404| EHETH) I 276 372 381 753
FEHRMT )1 396 551 595 1, 146 & Hu7 454 686 640/ 1,326
FEYRIT P 6 5 11 16 & H:HT 2% H 404 561 620 1,181
FEHRMTAAAIR 752) 1,110 1,140 2, 250|#HMTZL A 100 152 158 310
FEGRET A i 1, 407 1,911 1,981 3, 892 & H-HT 32 46 55 101
PR HE X 7, 287 9,958| 10,368 20, 326| & HMT R 270 403 414 817
EEaalp: 214 214 253 467
Sl ET 3,124 4,146 4,270 8, 416|FHHETHA 38 64 60 124
paislag 1, 381 1, 752 1, 899 3, 651 5 FHHTRIR 15 18 21 39
5| FE T 396 551 601 1, 152| HIRT L R 361 541 566 1,107
3=t 1) 131 190 200 390 & FHHTEEIR 41 63 75 138
T faf v ] 228 255 258 513| & H-ET 120 183 171 354
77K T 68 108 102 210 EHHTH S 135 214 213 4217
% JE[RIET 60 100 102 202| 5 HET/NER 314 446 478 924
B S HT 161 254 258 512| & T HAE 104 169 183 352
V5[ 5y HT 207 307 312 619| & HRT I 161 228 226 454
b Iy 307 392 369 T61| & T/ 191 292 290 582
T e AT 2,791 3,755 3,639 7, 394|F ST EE 510 743 730 1,473
AT 1,024 1,321 1,326 2,647| HEFHATHESE — T H 314 406 434 840
=AY 634 905 903 1, 808|EFHMTE A T H 340 446 476 922
R AT 1,260 1,602| 1,564 3, 166|EHETEIEAE =T H 202 287 276 563
[iZ1=1a) 1,058 1,398 1,337 2, 735| 5 HEHT 1% 290 443 439 882
rh ELET 379 493 542 1, 035] & H-HT T B 94 139 146 285
PR T 549 756 787 1, 543| & FEM] LB 143 209 202 411
FEHET 473 616 691| 1, 307| AT O 60 100 98 198
RER X 14,231 18,901 19,160 38,061 #FHiX 8,900/ 12,520| 12,838 25,358
iy 5,363| 6,287 6,427 12,714
T b X 5, 363 6,287| 6,427 12,714
R T 1,160/  1,627| 1,720 3,347
rh = AT 973 961 1,187 2,148
S AT 458 660 665/ 1,325
B4 LT 132 80 107 187
R4 IHIRT 48 46 70 116
R ERT 325 507 534 1,041
LT 847 1,164 1,214| 2,378
o L LT 645 901 913 1,814
- HLRRT 946| 1,322 1,395 2,717
AT 839 1,193 1,212 2,405
e T 657 958 976| 1,934
FaHT 149 231 226 457
+- 3T 196 297 278 575
B PRHT 327 499 478 977
=Y FRET 105 143 147 290
[URLa) 117 167 169 336
R4 X 7,924| 10,756 11,291 22,047
E R 637 818 852 1,670
IR E IR 1,173 1,443|  1,527| 2,970
E R RAR 215 327 332 659
IR RAR 948| 1,380 1,420 2,800
2 HEET/M 135 213 224 437 w A E 150, 684| 184, 558| 189,809 374, 367




